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Instructions:

ELEAA:
ELEMA:
> Question number 1 to 20 are of short answer type.
F1E20 B REERE,
FE1E20E YR EE-,
> Each question carries 10 marks.
BELE105,
BB L5105,
1.

What is the value of x?
x WEZRTE?
x WERMTAL?

x= |30718+ /36+ ’76.9



mac


2.

3
Find the value of /3.375

% | 33750 @,

% | 33750 @,

If the diagonals of a quadrilateral are the perpendicular bisect or if each other.

Then, the quadrilateral is a

F-NEFNHAREREEYSR  EEMEPRLRR— o
E-NUENNALXENEEFS% , ITELFLRR— o

In an examination, a student was asked to find 3/14 of a given number.
However, he calculated % of it and his answer was 150 more than the correct

answer. What was the number given to him?

E—REZRF , BERERKBIEERTH 314, R, FTET3/4 , HHE

RLCFBERSZ 7150 , GHENRERZD?

E—RERAF , 2ERERKBALERTFTH 3/14, R, ITET3/4 , HE

EHIFREERERZ 7150, KBNS HBREZD?



If 30 workers can paint a wall in 50 hours, how many workers are required to
do the same work in 20 hours?

H30B TAARS0/NGR—IBHIES , BES DU T ARE20/NFRTHEE
TH?

E30B T AR T50/Net N —HIEIEE | BBAS DU T AR E20/NTRN TR AEE

THE?

The numbers of faces, vertices and edges of a square pyramidare __ r
espectively.

—ERESFARBHOAHENE, BRNMENBESRIZR
—MAEFENERBEAEENE, MSAENHREDIHIR

A sum of money is distributed among A,B,C and D in the ratio
5:2:4:3. If C gets $1000 more than D, what is the share of B?

—%$#7%A , B, CNID4BAZEI5:2:4:30 bl 5 BL. BHCLE
DZ 5 HE$1000 , EBB S EZ D ?



—£4%EA , B, CANID 4N AZELA5:2:4: 309 bl 53 B, BCLEDZ 3R 2 L

$1000 , BBABRSEZ D ?

Suppose that the division N+5 leaves a remainder of 4 and the division N+2
leaves remainder 1.What must be the ones digit of N?

BREEMEN-S B A 4, BREN2 A1, AINWENRKAESZD?

BIRBE N5 REH 4, BOE N-2 RECH 1, B4 N HMIBRED 2

If (x+y)=6 and (x-y)=20, what is the value of (x2 + y?)?
& (x+y)=6 & (x-y)=20, BBEX? + Y )WEBERZD?

& (x+y)=6 K& (x-y)=20, BBA(x2 + 2 )W BER Z?



10.

A room in the shape of a cuboid is 10 m long, 7 m wide and 6 m tall. Find the
cost of plastering its lateral walls and ceiling at the rate of $2 per square
meter.

—ERAFBEANEBANRERI10K , RERTK , SER6XK, ERABFHK
R ERLHIRA RS2 , FE¥k H R (B 5= R Y Al id A R e AR R L0 = B BUAR
—MRGEERNEEHNKERI10K , RERTXK , EER6K, HEABTHEXK

AR ERLTRRAZES2 | FH LR B R M55 R R TEAREK L e £ Y AR

11.

Arrange the rational numbers in ascending order.
RUUT RN KHE,
RUTHEEHMN NI KEHE,



12.

For x% + 2x + 5to be a factor of x? + px? + g, the values of p and g must be

EE A+ x4+ 5B+ pll+qRF , p MqEXES 0
B X2+ 204+ A x+px+ g IER , p M q WESANR 0
13.

The table below shows the distribution of marks in a test. Grade C is given to

marks ranging from 30 to 44.
TRERT —EARPIBNS .
F,

TRERT —PMURFDTHNDH,

F,

EB30E445HNBEREWTAC



Marks Frequency

- SRR
) X
30-34 3
34-39 8
39-44 13
44-49 8
49-54 5
54-59 3

Calculate the percentage of students obtaining grade C.
Al HHERKARTEBSCEFNELELMBEEABRNES L.

BFIHEEERXNEPRBCENFELSEFEABRNE DL,

14,

3 3 3
Find the value of 3\/2X7\/2X5 718.
3 3 3
#i3]2 X 76X 5 1600

#i3]2 X 76X 5 10



15.

When 75% of a number is added to 75, the result is the number gain. What is
the original number?

E—{E#AI75% Lt 75 |, AIEBHERNE., FERRNBZTE?
HA—PEN75% L 75 , WEBHERE, BRERNHBRMTAL?

16.

Consider 3 numbers. Two of them are 20% and 50% greater than the
remaining number respectively. What is the ratio of the two larger numbers?
ZR={E%, HPMEHLETHRSD BISEHE20%K50%., 7 EE KW ER
HWLEpIRZD ?

ZR=AN. EPANBERTHHD 51&E H20%K50%, 1 RBRAK M

HEEBIRZD 2



17.

Name the solid that can be formed from the given net.
BT RIEE ST R ILE.
18 AT 4K B A T BORY AL

18.

Calculate the weight of a cubical wooden block with length 60 cm if the weight

of a 1-cubic-meter wooden block is 900 kg.

BN KRHARERI00LT , FerHEE —ERAB0EXRNEFEBARRNE

fein

o

BN KRBARRZIOONT , BIUTEE — U KANG0OEKRNIEFEARRIE



19.

If the interior angles of a quadrilateral are in the ratio 1:2:3:4, find all the
interior angles.

H-MEENRANLEGIR1:2:34, FREMBERA.
H-MAEHNAENLEGIR1:2:3:4, ERERBENA.

20.

If (3x — 2y) = 5 and xy = 6, find the value of 27x3 — 8ys3.
£ (3x—2y)=5 K xy =6, FFHH 27x3 - 8y3,
£ (3x—2y)=5 K xy =6, FFHH 27x3 - 8y3,

END OF PAPER



